IF Machinery

https://www.if-shop.com

X TUmEEE

Tl RS
Shock Absorbers

HEESERTE

Hydraulic buffer application range

B OEREE. FEH. HET. B, HEN. R
. Tme. U

B TFEH. %P6 aSO8K. L8E. e
A
W ORI, REEE T RI

B ETRERE. ABFHRE. SHEFEY. FRQ
=0

B Feeding ‘equipment. screen printers, robots, pad printers, conveyors.
take-off arms. Iransport machinery, slectronic machinery.

W Working mother rock. teaching equipment, food packaging machinery.
Labaratory, rubber and plastic rmachinery,

B Constructan machinery. ar irafiic indusiry, carpentry,

B Medical and health equpment. defense and military egqupment.
autormobile manufactunng and emvronmental protecton equipmernt

03 hitps:fwww, if-shop, com

REERIEFENR

Installation Note

gHriitRe. RIESREER:

fEMAD. ACRFIZRTER BTN | mmEARI e
FREETRMOET, BRI ERnEE:
EfiRAMA I L Eh3E, WRIAESEE
FENIBEEEAEERCBEREATY o

Mamtenance of mechanical parts is lortedden alter decomposition,
Lse A, AC seres must stop before | mm before effective stroke,

u
u
L]
L]
n
n
u
B I & fortudden lo spray paint on the tube and shaff, affecting the
cooling eftect and the ocourrence of oil leakage
B install mere than two buffers on the same side, please confrm the
synchronous action;
B Assembly Please note that the strength and eccentnoty of the fiung
plate must rol exceed 2

bleas i

Hydraulic buffer funchion

B HORE, RUEBIRE;

B R R
MEYSR RIS, WinEraEE:
HanE, tflEman~e;
AN A .

Reduce naise and provide 3 quiet environment

Elrmunation of shocks such as vibration and crash damage.
Accelerate mechanical actuahion frequency and increase produchon
energy.

Improve efficiency and create high-gquality products,

Extended mechanical life

onfEE RREEPEE

How to use the hydraulic buffer

ENMESAER:

ELE (KE. BREEERS |
MmiEES (4. JRER. 3% .
BRWATRE:

B EERE.

Total weight of maving objects.

Dwrection of movermnent thorizontal. free fall-rotation, etc ),
Addibonal propuision (gas. ol cylnder, malar),

Impacts per minute:

Insfant impact speed

HEEGSENCREPRELRER

hydraulic shock absorber and its item buffer compare chart

WERRRED
Spring and rubber buffer

RERRBE SRR ARG — B AIEIRE, XS
MENEE R ZER MM AEFE, TTRRMmE~EIE
BANFARESR, SHOSEHRE, TRRUSENON
Hiin¥s.

Springs and rubber buffers can only atsarb 3 small part of the lanelic
energy. and most of the lunetic energy 15 only temparary absorption and
storage of kinehc energy Inevitably, it will produce very large resistance
and rebound Such 3 bulter dewice cannol prowde high-speed
machinery. Operahion

FEhE
buffer

AEPEERNERDARE, BERSMNE, HKGAE
ShBTRH—MEENSAREE, LEXPOMET
B,

]I \\’ Eiiﬁ%hﬁm i 72
{IENREzoRE)
% II // AN *?“ N i

T XA

/ _

P T TS
HIE{TER STROKE

Due Io the high vibration and noise caused by impact objeds, the HK

Hydraulic Shock

Absorber can provide a similar equal force

deceleration fo aliow a smooth stop of moving obyects

EhmEMER
Ordering Information
AC BahMzE ——
AC Self compensation type
ACD WEIRME —
ACD bidirectionat absorption type sz
Dutside
Diarmater
mAD sy —— {mm)
adjustable t
j £ type e
Stroke
{mm)

N

—— TH: A%
Blank: Impacted

—— N: TFEL
N: No bumps

— -1EETEE

-1 applies to high speed

— -2mmT i

-2 applies to medium speed

—— -JiEATRE

-3 applies to low speed

hitps;fiwww.if-shop.com p4




IF Machinery https://www.if-shop.com X TAhEEhES
EhEirmE MEE N ERER
Buffer Purchase Method Hydraulic buffer usage example

HHEA Calculation Formula

e Kinetic energy E1=0.5xWxV'
PRt Working energy E2=F xS
SHREE Total energy E3=E1xE2
TRl aRE Absorbs total energy per hour E4=E3xC
S i g Free fall spead V=/Zgh
SEINERD Cylinder thrust F=7.854 xPxd’
kit Masimum Impact force Fm=1.2E3/S
Fisk A Effective welght value We=2<EN
25 Parameter
W=AEEhAIEIE (kg ) W = weight of moving abject (ka)
W= R (WS ) V=spead meter/second (MW/S)
F=pshoiitt (N) F = additional thrust (N)
C=/ NI I (Hr) € = Number of Shock Shocks par Hour (Hr)
itHAsL Calculation Formula
E1  (Nm)=hke {Nmi kinetic erergy (CmyEARE {Cmi cylinder bore
E2 (NmYT{EReE ( BINGHERA ) (Nm) Working Energy (Addtional Propulsion) () () Hesght
E3 (Nm)2Asem (Neri fetal anergy HhER2.5(1-2.5) Torgue coelficient 25 (1-25)
E4 (NmiSEfRaRE (Neil ol energy per hour (kgjiEEmislE (i) Wesghit of mowing oiect
F (NBEiED (NI Proputsion (kglemy) TR (/o) working pressure
Fm  (NHEh (N} Maarmurn impact force (mjsi (ri Radiuss.

9 (we2)hhER=0.81

(V2 Graity Accsleration = 981

(MiEE SRR OMIER [T DS om e hydaue

(<[~ || w|lp|=|2|s|9|7|o

v EEERR Condficiant of trction (myREE S ETE {rmi Hydraulee buffer siroke
? (rad/ SRR EAE  irad) Contact arghe and angie of impact (Nm)ENSIED (e Rckary Torte
w  (rads) B {rads} angular velocity {sec) R (sec) decelerabion fme
We (ko) SamEE thgt effective weight value (st {ms) impact speed
C (M SR (Hr) Mt per hour (KWIREEHR (W) Motar outpiut
THEEPEEEREH| Hydraulic buffer usage example
ST AR DA BaEs hig Fas:o
Without added propulsian Knawn condition 1 Calcutation formula
W=20kg E=D5xWx\ E=0.5x20x 1"=10Nm
V=1mis E=0 E=0
C=1000MHr E=E+E, E=10+0=10Nm/C
E=E,=C E.=10 = 1000=10000Nm/MHr
We=W We=20kg
A Modal)AC1415~1

05 hitps:iiwww, if-shop, com

© HMmEE G
There are addtional propulsion objects

2T ELETHGE"(FeWagixs
IIEFEFHBE=(F+Wig)xs

© i

Motor-driven objeds

=k 1
Free lall
h
£
O umzAE

The slope of the slide

0 EwHENE

Rotary impact force

EmgE2 itRast
Known condition 2 Caleutation formula
W=50kg E=05xWx\ E=0.5% 50 = 1'=25Nm
V=1mis E=FXS E.=1000 = 0.04=40Nm
F=1000N E=E+E, E,=25+40=65NmHr
C=500/Hr E=EXC E.=65 = 500=32500Nm/c
S=0.04M We=2xE/ V' We=2x65/1=130kg
A (Model)AD2540
itHast
Known condition 3 Caleulation formula
W=50kg E=05xWx V' E.=0.5 % 50 x 1.5'=56.25Mm
V=1.5m/s E=1000=xHP =ST=SA  E=1000x2x2.5=0,06/1.5=200Nm
8T=25 E=E+E, E.=56.25+200=265.25Nm/C
HP=2KW E=EXC E=265.25 * 100=25625Nm/Hr
C=100/Hr We=2xEN We=2x265/1.5'=22Tkg
5=0.06M Hi%A(Model)AC3660-2
SN itHast
Known condition & Caleulation formula
W=30kg E=Wxgxh E.=30x9.81 x0.5=147Nm
H=0.5M E=Wxgx8 E.=30x9.81 x0.08=23.5Nm
C=300/Hr E=E+E, E=147+23.5=170.5Nm/C
5=0.08M E=EXC E.=170.6 = 300=51150Nm/Hr
V=i2=xgxh V=/2x8.81x0,5=3.1m/s
We=2xE/N We=2 = 170.5/3.1'=35.5kg
i (Model)AC2580-1
EHENS itlas
Known condition 5 Calculztion formula
W=30kg V=/2g=L*Sing V=/2%9.81%0.50.5=2.2mis
L=0.5M E=05=Wx\ E=0.5%30x2.2'=72.6Nm
8=30" E=WxS5xSing xg E.=30=0.04 x9.81 = 0,5=5.9Nm
5=0.04M EFE+E, E~=72.6+59=78.5Nm/C
C=250/Hr E=EXC E.=78.5 x 250=19625Nm/Hr
We=2xEMN We=2x 78.5/2.2'=32kg
AR (Model ) AC2540-1
EN&HE itRast
Known candition & Caleulztion formula
W=100kg E=0.26xWxV, E.=0.25 %100 % 1.1°=30.3Nm
V=1.1m's E=TxS)R, E.=2000 = 0.06/0.8=150Nm
T=2000Nm E=EE, E,=30.3+150=180.3Nm/C
S=0.06M E=EXC E.=180.3 x 100=18030Nm/Hr
R,=1.25M V.=V, xR VR, V,=1.1=0.81.25=0.Tm/s
R.=0.BM We=2xEN We=2x 180.3/0.7°=730kg
C=100/Hr BliEAModel|AC3360-3

hitps:iwww.if-shop.com 0




IF Machinery https://www.if-shop.com

HEE R 2 RIE RS

Hudraulic buffer principle and structure

HESPE, AFHPEH, BOTNERREAEZ
R, BERERSEAEZHHB— N, EiH
AEHHZ B ERSBERAERIAR, ShEhiEE
B, RERHOTHEEREEUE, SETAMeE, £
BRI E, HGRESSREEBPNNRRE
BRauamesit.

g ER EE A W A P S
[ B
Fhisk WO iw  WESR  Em B O
PR YR,
BT R, HESSEneEmEPREEREERTEE, DRUSTRRETR.
M14x1,0 M25x25 | M27x2.0
SEUEERmm) | MBx1.0 | MIOx1.0 | M12x1.0 | | M16x1.5 | M20*1.5 | ! { M30x1.5 | M36x1.5 | Md2%1.5
14%15 M25%2.0 | M27x3.0
WEEEIRIE(N.m) 39 a8 ra a8 14.7 254 48 588 784 98 392

i ER R ET

07 hitps:fiwww. if-shop, com hitps; www.if-shop.com




'IF'MacHi'nery

AC Bzh#MEZ3F! AC Automatic Compensation Series

| AC0806(N) |

"ﬁlt'ps:'!f'v\fww."i"f'-s-ﬁqp.com

AC0B06 ACOB06-N
HEAZE Technical Parameters
ng HRBAREER AUERE EREE
Mo Absorption energy E ] i Temperatis
(gt ) j i
ACDBOB-1(N) 6 18 0.8-56 —10-+80 12(10.8M)
ACOBOE-2(N) 8 18 2,5-10 12 8800 -10-+80 12(10.8M)
ACOBOG~3(N) B 1.8 5.5-22 0.8 BA00 =10—+80 12(10.8N)
?H}?R“J’@ Dimensions
H Thread !
O O.I_-_ e
|__E | stoke | E |
| B |
| A |
Bne WALFR i A B Cc D E F G H
Mode o il Chroke i
ACOBOE-1(N) Max1.0 ] 50 38 6.6 29 6 a3 11 3
ACOBDE-2(N) MB=1.0 6 50 38 6.6 29 ] 33 11 3
ACDBOG-3(N) ME=10 ] 50 38 6.6 29 6 33 11 3

09 hitps:iwww, if-shop,com

TAlhES h2E

| AC1005(N)

&

AC1005 AC1005-N

RARZH Technical Parameters

g Tz

SRBAREREE

AG1005-1(N) 5 3 24 10800 —10~+80 14(11.9N)
AC1005-2(N) 5 3 25-8 12 10800 -10~+80 14(11,9NM)
AC1005-3(N) 5 3 10-35 0.8 10800 -10~+80 14{11.9N)
SMERTE pimensions
I
(Mr I l
o] — dl_ —
=
|__E | Stoke | F |
| B |
| A |
B8 b by o 78 A B (ir D E F G H I
Mode Thread nomea Stroke ()
AC1005-1(N) M10=1.0 5 38.7 279 86 29 [ 229 12.7 3
AC1005-2{N) Mi10=1.0 5 387 279 8.6 2.9 6 229 12.7 3
AC1005-3(N) M10x1.0 5 387 278 885 29 6 228 127 3

htps:iwww.if-shop.com 10




IF Machinery https://www.if-shop.com

< TehEES

AC Bnp#MEZ3F! AC Automatic Compensation Series

| AC1008(N) \ AC1210(N)

AC1008 AC1008-N AC1210-N
FEAZE Technical Parameters RS Technical Parameters
me REARYReE AUERE EREE e B Tz TREAR FHERE G B ERArREE EFRE
Mk O BNy Eff Temperatis Weghl Mode Siroke - O BNergy Effct hit mpact speed g Termpenatu
AC1008-1(N) 8 33 1-4.4 286 15200 —10-+80 21.1(19.4N) AG1210-1(N) 10 (] 1.8-12 26 17640 —10~+80 37.4(34N)
AC1008-2(N] a8 a3 2.8-10 1.5 15200 -10-+80 21.1(19.4N) ACI1210-2(N) 10 6 53-18.7 1.5 17640 -10~+80 37 4(34N)
AC1008-3(N) 8 33 10-40 0.8 15200 =10~+80 21.1(19.4N) AC1210-3(N) 10 6 12-75 0.8 17640 -10~-+80 37.4(34N)

SMEZRTE  Dimensions SMERTE pimensions

Thread |
— / =
\
- = — U 01 — — — — — — — — — " o — - - — —— —
/ F | S |
!
£ E | stoke B
[ | A
}
e WMELIHT A B (o4 D E F G H s Lo 78 A B c D E F G H I
Mad Threa Modo Thiesh . Eohdes e
AC1008-1(N) M40 1.0 8 58 4 85 29 7 38 12.7 3 AG1210-1(N) M12x1.0 10 70 50.5 10.5 29 95 46 14 4
AC1008-2(N) M10%1.0 8 58 43 85 240 7 "} 127 3 AC1210-2{N) Mi12x1.0 10 70 50.5 10,5 29 a5 48 14 4
AC1008-3(N) M10%1.0 8 58 43 85 29 7 a8 127 a AC1210-3(N]  M12x10 10 70 50.5 10.5 29 85 6 14 4

11 hitps:ifwww, if-shop, com hitps:fiwww.if-shop.com 12




IF Machinery

O TmEEeE

AC Bzh#MEZ3F! AC Automatic Compensation Series

| AC1412(N) | AC1415(N) |

AC1412 AC1412-N

HEAZE Technical Parameters RARZH Technical Parameters

ng HRBAREER AUERE EREERE e 7iE SREARYEEE

Maoded Absorption energy E i Temperatis Mode 5 i enery

(gt ) b
AC1412-1(N) 12 16 0.4-32 -10-+80 61.5(58.2N) AC1815-1(N) 15 18 527 26 36000 -10—+80 66.2(62.9N)
AC1412-2(N) 12 16 14~50 1.5 30000 -10~+80 61.5(58.2N) AC1415-2(N) 15 18 17-62 1.5 36000 ~-10~+80 66.2(62.9N)
AC1412-3(N) 12 16 56~200 0.8 30000 =10—+80 61.5(58.2N) AC1415-3(N) 15 18 62~280 0.8 36000 -10—+80 B6.2(62.9M)
SMERTE Dpimensions SMERTE pimensions
/_-H Thread r—'—| /_-H- Thread |—'—|
r d calisad] == e al
1 ‘ |
|__E | Stroke | E | |_E | Stroke | F |
| B | [ B |
| A | | A |

e WML i A B Cc D E E G H s b el e A B (o D E F G H I

Mide Thread nominal Stroke [mm Mode Thread nomenal Stroke fmmi

AC1412-1(N) M14=15 12 29 76 12.2 38 1 &7 19 5 AC1415-1(N) M14x15 15 102 76 122 38 11 67 19 5
AC1412-2(N) 14%1.5 12 99 76 12.2 38 11 67 19 5 AC1415-2(N) Midx15 15 102 76 122 3.8 11 a7 19 5
AC1412-3(N) M1dx15 12 a9 18 122 38 11 67 18 5 AC1415-3(N) M14x15 15 102 78 12.2 38 1 67 19 5

13 hitps:fwww.if-shop,com

hitps:/fwww.if-shop,com 14




'IF'Mac'h-inery

| ﬁttps:'!fwww.'i'f-s-hop.com

AC Bzh#MEZ3F! AC Automatic Compensation Series

| AC1416(N) |

a0

HEAZE Technical Parameters

AC1416

AC1416-N

| AC1416C(NC) |

&

AC1416-C

RARZH Technical Parameters

< TWhEES

AC1416-NC

7% SRBAREREE
Siroke 71 BTy

AG1416-2C(N) 16 20

17-62

1.5 36000 —10—+80 BO(76.3N)

AC1416-3C(N) 16 20

SMERTE Dimensions

50~250

0.8 36000 —10—+80 BO{7S.3N)

Ll SREARYReE EE
Mo ption energy Neghi
AC1416-1(N) 16 20 6-43 3 36000 -10~+80 8A(B3TN)
AC1416-2(N) 16 20 18.5-64 15 36000 ~10-+80 83(B3.7M)
AG1416-3(N) 16 20 64.8-263 08 36000 ~10—+80 83(83.7N)
?H}?R“J’@ Dimensions
I
e /
|__E | stoke | E |
B |

| A |
e b Bt T A B c D E F G H
Vod gy siiees
AC1416-1(N) M14%15 16 122 95 122 38 1 86 19 5
AC1418-2(N) M14x15 16 122 a5 122 38 1 86 19 5
AC1416-3(N) M14x15 16 122 a5 122 38 1 86 18 5

15 hitps:ifwww, if-shop,com

— —
=] A _
|
| — —
—  S—
|L_E | Stoke | E |
B |
| A |
BnE RV LR 72 A B Cc D E F G H |
Mada Thee droke (i
AC1416-2C(N) M14=15 16 103 76 122 38 11 67 19 5
AC1416-3C(IN) M 14x15 16 103 76 12.2 38 11 67 19 5

hitps:fiwww.if-shop.com 18




[ ”I_I'fnliz‘luac'h-i'nery

https://www.if-shop.com < IWHEETS

AC Bzh#MEZ3F! AC Automatic Compensation Series

| AC1425 | | AC2020(N) |

oy

o= i

e

8
o

e

il

AC2020 AC2020-N

HEAZE Technical Parameters RARZH Technical Parameters
ng 72 HRBAREER EREERE e 7iE SREARYEEE
Maoded Absorption energy Temperatis it Mode Siroke i enery

s fhgt el b i 0 o
AC1425-1(N) 25 20 6-43 3 36000 -10-+80 96(83.7N) AG2020-1(N) 20 35 9-36 3.2 42000 —10-+80 175.5(160N)
AC1425-2(N) 25 20 18.5~64 1.5 36000 -10-+80 96(83.7N) AC2020-2(N) 20 35 23-492 2 42000 -10~+80 175.5(160N)
AC1425-3(N) 25 20 64.8~263 0.8 36000 =10—+80 96(83.7N) AC2020-3(N) 20 35 B64~575 1.2 42000 —10~+80 175.5(160N)
SMERTE Dpimensions SMERTE pimensions

=
B
[ |
—5—
[
i
!
|
i

|__E | Stroke | E | |_E | Stoke | E
B | B |

| A | | A |
ws e {p7: A B Cc D E F G H Bs WL [l A B C D E F G H !
Mo Thread nominal Strowe (mm Mode Thread no Siroke i
AC1425-1(N) M14=15 25 146 110 12.2 38 1" 101 19 5 AC2020-1(N} M205=1.5 20 146 110 17.8 (<] 16 101 26 7
AC1425-2(N) 14%15 25 146 110 12.2 38 11 m 19 ) AC2020-2{N) M20=15 20 146 110 17.8 6 16 101 26 i
AC1425-3(N) M1dx15 25 146 110 122 38 11 101 18 5 AC2020-3(N) M20x15 20 146 110 17.8 6 16 10 26 7

17 httpz:iiwww. if-shop,com hitps:fiwww.if-shop.com 18




~ IF Machinery https://www.if-shop.com < TAmEEs

AC Bri#MEZEF AC Automatic Compensation Series

'AC2050 |

| AC2030 |

HEAZE Technical Parameters HEARZH Technical Parameters

BE EREARERER o) R R FAERE )RR (EFREE
Madsl Absorption ensrgy Model A Bnery A weght Bbsorh energy Termparature
(gt i) o
AC2030-1(N) 30 45 -10—+80 195.2(180N) AC2050-1(N) 50 60 10~-125 35 63240 -10—+80 254,4(239N)
AC2030-2(N) 30 45 -10—+80 195.2(180N) AC2050-2(N) 50 60 18~253 28 63240 -10~+80 254.4(239N)
ACZ030-3(N) 30 45 -10~+80 185.2(180N) AC2050-3(N) 50 60 55~496 1.5 53240 -10~+80 254 4(239N)
SMERTE Dpimensions SMERTE pimensions
— Y e S
= = — .
\
r of — ‘l J— = [
1 I
| / ]
N—] — — —
J _J L
|_E | swke | F | e E ' ;
= ' L A |
| A |
Bne WML e A B Cc D E E G H s b el e A B c D E F G H I
Model Thread nominal Stroke (mm Model Thread nomnal Stroke fmmi
AC2030-1(N) M20=15 30 161 115 17.8 6 16 106 26 7 AC2050-1(N) M20x15 50 2245 1585 17.8 6 16 1485 26 7
AC2030-2(N) M20x15 30 161 115 17.8 6 16 106 26 AC2050-2(N) M20=15 50 2245 158.5 17.8 6 16 149.5 26 7
AC2030-3(N) M20%1.5 30 161 115 178 B 16 106 26 T ACZ050-3(N) M20x1.5 50 2245 158.5 17.8 6 16 148.5 26 T

19 https:iiwww. if-shop,com hitps:/fwww,if-shop.com 20




'IF'MacHi'nery "ﬁlt'ps:'!f'v\.'ww.“i"f'-s-ﬁqp.com

AC Bzh#MEZ3F! AC Automatic Compensation Series

77

| AC2525(N) |

AC2525 AC2525-N

HEAZE Technical Parameters
ng 72 HRBAREER AUERE fERNEEE i
Mo Stroke Alsorption ensrgy Effs 3 Te rafire Neight

(gt el ~ Py
AC2525-1(N) 25 80 15-69 32 54000 -10-+80 332 5(307N)
AC2525-2(N) 25 B0 38-380 2 54000 -10—+80 332.5(307N)
AC2525~-3(N) 25 80 108~1733 12 54000 -10~—+80 332.5(307TN)

?H}?R“J’@ Dimensions

|
Z / e
O e e
|_E | Stroke | F |
| B |

L A |
Bne WML i A B Cc D E F G H
Mo o il Shroke I
AC2525-1(N) M25x15 25 155 11 22 8 19 101 32 9
AC2525-2(N) M25x15 25 155 11 22 a 19 101 32 9
ACZ525-3(N) M26x15 25 155 1 22 a1 19 101 32 g

21 https:iiwww, if-shop,com

| AC2540 |

RARZH Technical Parameters

< IUREES

e g EREAT YRS FHERE B/ RURER
Mo Siroke . O ENery F it g y
AC2540-1 40 120 20-106 35 75000 -10-+80 430
AC2540-2 40 120 50-450 2.2 5000 -10~+80 430
AC2540-3 40 120 245~1991 1.0 75000 ~10~+80 430
SMERTE pimensions
:ﬂ Thread |+1
=
li¢ 1
= il
| |
) Il ! 1
1 E | Stroke 1 G| F |
| B |
| A |
s EREe A B (o] E F G H |
Mode a Stroke (e
AC2540~1 M25x15 40 213 137 22 36 127 10 a2 9
AC2540-2 M25x15 40 213 137 22 36 127 10 32 9
AC2540-3 M25x15 40 213 137 22 36 127 10 32 9

hitps:iiwww.if-shop.com

22




IF Machinery https://www.if-shop.com < InEEhS

AC Bri#MEZEF AC Automatic Compensation Series

| AC2550 | | AC2580(7F) |
AC2580 ACZ5B0%F
HEAZE Technical Parameters RARZH Technical Parameters
BE HRBARYER HE R EEER e R R B EReEE ERERE =R
Madsl Ay 0N BNETTY Ahsorh ensrgy Temperalre Model oy & v Terrperathurs Weight
T ro e 14 g
ACZ550-1 50 140 90000 -10—+80 AG2580-1 an 188 120000 -10-+80 570.5
AC2550-2 50 140 90000 -10~+80 470 AC2580-2 80 198 120000 -10~+80 570.5
AC2550-3 50 140 S0000 -10~—+80 470 AC2580-3 BO 188 120000 -10—+80 5705
SMERTE Dpimensions SMERTE pimensions
/nnu. r—'—1'_
M O N —
I_ I I AC2580
[" (I 3 I CE e s —
o I i |
O
L — | -
R S [ | 1
LE I Soe | B | 1 [ ] i et
l A | : £t Seoke | ' = '_'l ' |
Bne LT f57: A B Cc D E E G H s BN o A B c D E F G H |
Moded Thread nominal Stroke (mm Model Thread nomenal Stroke frmmi)
AC2550-1 M25x15 50 240 170 22 8 19 160 32 9 AC2580~1 M 25 = 1.5(P2.0) 80 336 247 22 i 19 237 a2 g9
AC2550-2 M25x15 50 240 170 22 8 19 160 32 9 AC2580-2 M25%15(P2.0) B 336 247 22 8 19 237 32 9
AC2550-3 M25%15 50 240 170 22 8 19 160 32 15 AC2580-3 M25x15(P2.0) 80 336 247 22 ] 19 237 32 9

23 hitps:iwww, ii-shop, com hitps:iiwww.if-shop.com 24




IF Machinery https://www.if-shop.com

AC Bih*MEZEF AC Automatic Compensation Series

| AC3660 |

o oy

h

ik

k-,

EAZE Technical Parameters

Be 7 Rk masem £ dmem mm
Mods] = Abcorphion srerdy r Asorh anergy Waight
) T per t I
ACIEE0-1 60 260 57-231 30 124800 -10-+80 1033.6
AC3I660-2 60 260 130~813 20 124800 -10~+80 1033.8
AC3660-3 BO 260 520~3250 1.0 124800 =10~+80 1033.6
SMEERTE  Dimensions
1
:ﬂ Thraad gl
- s £ =
{QI G
— —
| E | Stroke |G| F |
| B |
| A |
e WML FR TR A B C D E F G H
AC3660-1 M36x15 60 248 145 36 10 26 134 17 46 15
AC3660-2 M36=15 B0 248 145 36 10 26 134 17 46 15
AC3660-3 M36=15 a0 248 145 36 10 26 134 17 46 15
25 httpsiiiwww.if-shop.com hitps.{fwww,if-shop.com




